Դաս 6
Տասնորդական կոտորակների գումարումը
Առաջադրանքներ
1. Կատարե՛ք գումարում. 
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2. Կատարե՛ք գումարում. 
ա)(–1,2) + (–3,4) , 
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3. Կատարե՛ք գործողությունները. 
ա) 2 + 0,38, 
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ե) 0,836 + 10, 
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4. Լուծե՛ք հավասարումը. 
ա) z – 0,615 = 0,02, z = 0,595
գ) 27 = z – 10,0001, z = 37,0001
բ) z – 18,2 = 124,01, z = 142,21
դ) 654,1 = z – 5037,203 = 4383,103
5. Լուծե՛ք հավասարումը. 
ա) x – 0,99 = 0,01, x = 1
գ) x – 8,64 = 0,  x = 8,64
ե) x – 0,3 = 1, x = 1,3
բ) 4,52 = x – 10,48, x = 5,96
դ) 20,3 = x – 0,45, x = 19,85
զ) 17,4 = x – 11,2։ x = 28,6
